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1. (10 MARKS) An electricity company charges its customers a base rate of $10 a month, plus
6 cents per kilowatt-hour (kWh) for the first 1200 kWh and and 7 cents per kWh for all usage
over 1200kWh. Express the monthly cost E as a function of the amount z of electricity used.
Then graph the function E for 0 < z < 2000.
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1. (5 MaRks) If f(z) = 2° + 2% + «, find f~'(3) and f(f7'(2))
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Quiz 3 Ans.
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1. (10 Marks) Find the horizontal and vertical asymptotes of the following curve:
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1. (3 Marks) Differentiate:

f(z) = Vz(2 + x)
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2. (7 MARks) Differentiate:
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._lz
f) = 'li [mml/ [ x+ \lXJ»GE‘l/ 2
Lol 2 [ 1 i@ e ] 2
e fm@] % [ 1 L@ O] 5
WAATN K

| \ g
- L el

2\ xdal

\ \
or A |
— olnmg: L - eV



MATA30 FALL 2018
Tutorial: 0007

Quiz 6
NAME:

UToRID:

1. (10 MArks) Find dy/dz by implicit differentiation:

zsiny + ysinz =1
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1. (10 MARKsS) Use the guidelines to sketch the graph:
3/2 X ‘/2.
y=(-9v = X -3x
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1. (10 MARks) Find the dimensions of a rectangle with area 1000m? whose perimeter is as
small as possible.
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1. (10 MARKS) Use the definition of the integral to evaluate (Hint: Use Riemann Sum):
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